

$$A [1.2 \sigma] \quad \int \frac{2^x}{\sqrt{1-4^x}} dx$$

$$y = 2^x \Rightarrow 4^x = (2^2)^x = 2^{2x} = (2^x)^2 = y^2 \quad \text{uda}$$

$$\frac{dy}{dx} = (2^x)' = (e^{x \ln 2})' = e^{x \ln 2} \ln 2 = 2^x \ln 2 > 0 \quad \forall x \in \mathbb{R}$$

$$\Rightarrow \int \frac{2^x}{\sqrt{1-4^x}} dx = \frac{1}{\ln 2} \int \frac{2^x \ln 2 dx}{\sqrt{1-(2^x)^2}} = \frac{1}{\ln 2} \int \frac{dy}{\sqrt{1-y^2}} =$$

$$= \frac{1}{\ln 2} \operatorname{Arcsin} y + C = \frac{1}{\ln 2} \operatorname{Arcsin} (2^x) + C,$$

$$\text{για } x \in (-\infty, 0) \quad (\Leftrightarrow y \in (0, 1))$$

2-A/2

$$A [1.3y] \quad \int \cos x \sin 3x \, dx$$

$$\sin(3x) = \sin(x+2x) = \sin x \cos(2x) + \cos x \sin(2x)$$

$$\begin{aligned} \Rightarrow \cos x \sin 3x &= \cos x \sin x \cos(2x) + \cos^2 x \sin(2x) \\ &= \frac{1}{2} \sin(2x) \cos(2x) + \frac{\cos(2x)+1}{2} \sin(2x) \\ &= \sin(2x) \cos(2x) + \frac{1}{2} \sin(2x) \\ &= \frac{1}{2} \sin(4x) + \frac{1}{2} \sin(2x) \end{aligned}$$

$$\Rightarrow \int \cos x \sin 3x \, dx = \frac{1}{2} \left(\int \sin(4x) \, dx + \int \sin(2x) \, dx \right) =$$

$$\begin{aligned} &= \frac{1}{2} \left(\frac{1}{4} \int \sin y \, dy + \frac{1}{2} \int \sin z \, dz \right) \\ \begin{aligned} y &= 4x \Rightarrow dy = 4 \, dx \\ z &= 2x \Rightarrow dz = 2 \, dx \end{aligned} \end{aligned}$$

$$= -\frac{1}{4} \left(\frac{1}{2} \cos(4x) + \cos(2x) \right) + C \quad \forall x \in \mathbb{R}$$

$$\text{178 [1.24]} \quad \int \frac{dx}{x \sqrt{x^{2v} - \alpha^{2v}}} \quad (\alpha > 0, v \in \mathbb{N}, x > \alpha \text{ \textit{or} } x < -\alpha)$$

$$\int \frac{dx}{x \alpha^v \sqrt{\left(\frac{x}{\alpha}\right)^{2v} - 1}} = \int \frac{d\left(\frac{x}{\alpha}\right)}{\left(\frac{x}{\alpha}\right) \alpha^v \sqrt{\left(\frac{x}{\alpha}\right)^{2v} - 1}} \quad y = \frac{x}{\alpha} \quad \alpha^v \int \frac{dy}{y \sqrt{y^{2v} - 1}}$$

$$= \frac{1}{v \alpha^v} \int \frac{v y^{v-1} dy}{y^v \sqrt{(y^v)^2 - 1}} \quad z = y^v \quad \frac{1}{v \alpha^v} \int \frac{dz}{z \sqrt{z^2 - 1}} = \frac{1}{v \alpha^v} \int \frac{dz}{z^2 \sqrt{1 - \frac{1}{z^2}}}$$

$dz = v y^{v-1} dy$

$$u = \frac{1}{z} \quad \frac{1}{v \alpha^v} \int \frac{du}{\sqrt{1 - u^2}} = -\frac{1}{v \alpha^v} \operatorname{Arctan} u + C = -\frac{1}{v \alpha^v} \operatorname{Arctan} \left(\frac{\alpha}{x}\right)^v + C$$

$du = -\frac{1}{z^2} dz$

$$\text{Ex [1, § 1.2] a) } \int \frac{dx}{\sqrt{1-x^2}-1} \stackrel{=}{=} \int \frac{\cos \vartheta d\vartheta}{\cos \vartheta - 1} \quad \text{[2-A/4]}$$

$$= \int d\vartheta + \int \frac{d\vartheta}{\cos \vartheta - 1}$$

$$\begin{aligned} x &= \sin \vartheta \in (-1, 0) \cup (0, 1), \\ \vartheta &\in \left(-\frac{\pi}{2}, 0\right) \cup \left(0, \frac{\pi}{2}\right), \\ dx &= \cos \vartheta d\vartheta, \quad \sqrt{1-x^2} = \cos \vartheta \end{aligned}$$

$$= \vartheta + \int \frac{\cos \vartheta + 1}{\cos^2 \vartheta - 1} d\vartheta = \text{Arc sin } x - \int \frac{\cos \vartheta + 1}{\sin^2 \vartheta} d\vartheta$$

$$= \text{Arc sin } x - \int \frac{dx}{x^2} - \int \frac{1}{\sin^2 \vartheta} d\vartheta = \text{Arc sin } x + \frac{1}{x} + \text{ctg } \vartheta + C$$

$$= \text{Arc sin } x + \frac{1}{x} + \frac{\sqrt{1-x^2}}{x} + C \quad \text{für } x \in (-1, 0) \cup (0, 1)$$

$$\text{B) } \int \frac{dx}{x \sqrt{1+x^6}} \stackrel{=}{=} \frac{1}{6} \int \frac{1}{y} \frac{1}{\sqrt{1+y}} dy \stackrel{=}{=} \frac{1}{3} \int \frac{dt}{t^2-1}$$

$$y = x^6 \quad dy = 6x^5 dx = 6y \frac{1}{x} dx$$

$$t = \sqrt{1+y} \quad dt = \frac{1}{2\sqrt{1+y}} dy$$

$$= -\frac{1}{3} \text{Arctgh } t + C = -\frac{1}{3} \text{Arctgh } \sqrt{1+x^6} + C \quad \text{für } x > 0 \cup x < 0$$

[από [Nc. I, σελ. 278] $\operatorname{Arctg} h z = \frac{1}{2} \log \frac{z+1}{z-1} = \log \sqrt{\frac{z+1}{z-1}}, |z| > 1$

$\Leftrightarrow -\operatorname{Arctg} h z = \log \sqrt{\frac{z-1}{z+1}}$ έχουμε

$$-\operatorname{Arctg} h \sqrt{1+x^6} = \log \sqrt{\frac{\sqrt{1+x^6}-1}{\sqrt{1+x^6}+1}} = \log \sqrt{\frac{(\sqrt{1+x^6}-1)^2}{(1+x^6)-1}} =$$

$$= \log \frac{\sqrt{1+x^6}-1}{|x|^3}$$

[Ενάληκτα [Nc. II, σελ. 13, βλ. και Παράρ. 1.23 (ii)]:

$$\int \frac{dx}{x\sqrt{1+x^6}} \stackrel{x^3 = \operatorname{tg} \vartheta, \vartheta \in (0, \frac{\pi}{2}) \text{ ή } \vartheta \in (-\frac{\pi}{2}, 0)}{=} \frac{1}{3} \int \frac{1}{\operatorname{tg} \vartheta} \frac{1}{\sqrt{1+\operatorname{tg}^2 \vartheta}} \frac{1}{\cos^2 \vartheta} d\vartheta$$

$$\underbrace{dx^3}_{=3x^2 dx} = \frac{1}{\cos^2 \vartheta} d\vartheta \Rightarrow dx = \frac{1}{3x^2} \frac{1}{\cos^2 \vartheta} d\vartheta$$

$$= \frac{1}{3} \int \frac{1}{\operatorname{tg} \vartheta} \frac{1}{\cos \vartheta} d\vartheta = \frac{1}{3} \int \frac{d\vartheta}{\sin \vartheta} \stackrel{\text{Π8}[1.14]}{=} \log \left| \operatorname{tg} \frac{\vartheta}{2} \right| + c = \log \left| \frac{\sqrt{1+x^6}-1}{x^3} \right| + c$$

από $\operatorname{tg} \frac{\vartheta}{2} = \frac{\sin \frac{\vartheta}{2}}{\cos \frac{\vartheta}{2}} = \frac{\sin \frac{\vartheta}{2} \cos \frac{\vartheta}{2}}{\cos^2 \frac{\vartheta}{2}} = \frac{\sin \vartheta}{\cos \vartheta + 1} = \frac{\operatorname{tg} \vartheta}{1 + \sqrt{\operatorname{tg}^2 \vartheta + 1}} = \frac{\sqrt{\operatorname{tg}^2 \vartheta + 1} - 1}{\operatorname{tg} \vartheta}$

$$A [1.5x] \int \frac{x^{2\nu}}{(\alpha^2+x^2)^{\nu+3/2}} dx = \int \frac{x^{2\nu}}{(\alpha^2+x^2)^\nu (\sqrt{\alpha^2+x^2})^3} dx$$

$$= \int \frac{x^{2\nu}}{(\sqrt{\alpha^2+x^2})^{2\nu+3}} dx = \int \frac{\alpha^{2\nu} \operatorname{tg}^{2\nu} \vartheta}{\alpha^{2\nu+3} \frac{1}{\cos^{2\nu+3} \vartheta}} \alpha \frac{1}{\cos^2 \vartheta} d\vartheta$$

$x = \alpha \operatorname{tg} \vartheta, \vartheta \in (-\frac{\pi}{2}, \frac{\pi}{2})$
 $dx = \alpha \frac{1}{\cos^2 \vartheta} d\vartheta$
 $\sqrt{\alpha^2+x^2} = \alpha \sqrt{1+\operatorname{tg}^2 \vartheta} = \frac{\alpha}{\cos \vartheta}$

$$= \frac{1}{\alpha^2} \int \operatorname{tg}^{2\nu} \vartheta \cos^{2\nu+1} \vartheta d\vartheta = \frac{1}{\alpha^2} \int \sin^{2\nu} \vartheta \cos \vartheta d\vartheta$$

$$= \frac{1}{\alpha^2} \int y^{2\nu} dy = \frac{1}{\alpha^2} \frac{y^{2\nu+1}}{2\nu+1} + C = \frac{1}{\alpha^2} \frac{\sin^{2\nu+1} \vartheta}{2\nu+1} + C$$

$y = \sin \vartheta$
 $dy = \cos \vartheta d\vartheta$

$$= \frac{1}{\alpha^2(2\nu+1)} \operatorname{tg}^{2\nu+1} \vartheta \frac{1}{\cos^{2\nu+1} \vartheta} + C = \frac{1}{\alpha^2(2\nu+1)} \frac{\operatorname{tg}^{2\nu+1} \vartheta}{\sqrt{1+\operatorname{tg}^2 \vartheta}^{2\nu+1}} + C$$

$$= \frac{1}{\alpha^2(2\nu+1)} \left(\frac{\operatorname{tg} \vartheta}{\sqrt{1+\operatorname{tg}^2 \vartheta}} \right)^{2\nu+1} + C = \frac{1}{\alpha^2(2\nu+1)} \left(\frac{x}{\sqrt{\alpha^2+x^2}} \right)^{2\nu+1} + C$$

$\left(\begin{array}{l} \nu \in \mathbb{N}, \\ \alpha > 0, \\ x \in \mathbb{R} \end{array} \right)$

A [1.5δ] $\int \frac{dx}{x\sqrt{1+x^4}} \stackrel{z=2-4/7}{=} \int \frac{1}{z+\vartheta} \frac{1}{\cos^2 \vartheta} \frac{1}{\cos \vartheta} d\vartheta$

$= \frac{1}{2} \int \frac{d\vartheta}{\sin \vartheta}$

$= \frac{1}{2} \log \left| \operatorname{tg} \frac{\vartheta}{2} \right| + C$

$\text{TS [1.14]} \quad \left. \begin{aligned} x^2 &= \operatorname{tg} \vartheta, \vartheta \in (0, \frac{\pi}{2}) \\ \frac{d(x^2)}{2x dx} &= \frac{1}{\cos^2 \vartheta} d\vartheta \end{aligned} \right\} \Leftrightarrow dx = \frac{1}{2x} \frac{1}{\cos^2 \vartheta} d\vartheta$

$\sqrt{1+x^4} = \sqrt{1+\operatorname{tg}^2 \vartheta} = \frac{1}{\cos \vartheta}$

$\mu \varepsilon \quad \operatorname{tg} \frac{\vartheta}{2} = \frac{\operatorname{tg} \vartheta}{1+\sqrt{1+\operatorname{tg}^2 \vartheta}} = \frac{x^2}{1+\sqrt{1+x^4}} \quad \left(= \frac{\sqrt{1+x^4}-1}{x^2} \right)$

$\Rightarrow \int \frac{dx}{x\sqrt{1+x^4}} = \frac{1}{2} \log \left(\frac{x^2}{1+\sqrt{1+x^4}} \right) + C \quad \left(= \frac{1}{2} \log \left(\frac{\sqrt{1+x^4}-1}{x^2} \right) + C \right)$

για $x > 0$ ή $x < 0$

A [1.8ε] $\int \frac{\alpha x^2 - \beta}{x^2 + (\alpha x^2 + \beta)^2} dx = \int \frac{1}{1 + (\alpha x + \frac{\beta}{x})^2} \left(\alpha - \frac{\beta}{x^2} \right) dx =$

$\stackrel{z}{=} \alpha x + \frac{\beta}{x} \Leftrightarrow dz = \left(\alpha - \frac{\beta}{x^2} \right) dx \quad \int \frac{dz}{1+z^2} = \operatorname{Arctan} z + C = \operatorname{Arctan} \left(\alpha x + \frac{\beta}{x} \right) + C$

για $x > 0$ ή $x < 0$ ($\alpha, \beta > 0$)

178 [1.47] $\int \frac{\text{Arcsin } x}{(1-x^2)^{3/2}} dx$

$$\int \frac{dx}{(1-x^2)^{3/2}} = \int \frac{dx}{(\sqrt{1-x^2})^3} \stackrel{x = \sin \vartheta}{\vartheta \in (-\frac{\pi}{2}, \frac{\pi}{2})} = \int \frac{\cos \vartheta d\vartheta}{\cos^3 \vartheta} = \int \frac{d\vartheta}{\cos^2 \vartheta}$$

$$= \text{tg } \vartheta + C = \frac{\sin \vartheta}{\cos \vartheta} + C = \frac{\sin \vartheta}{\sqrt{1-\sin^2 \vartheta}} + C = \frac{x}{\sqrt{1-x^2}} + C \quad (A[1.45])$$

$$\Rightarrow \int \frac{\text{Arcsin } x}{(1-x^2)^{3/2}} dx = \int \underbrace{\text{Arcsin } x}_{=f} \underbrace{\frac{1}{(1-x^2)^{3/2}}}_{=g'} dx = \underbrace{\text{Arcsin } x}_{=f} \underbrace{\frac{x}{\sqrt{1-x^2}}}_{=g} - \int \underbrace{\frac{1}{\sqrt{1-x^2}}}_{=f'} \underbrace{\frac{x}{\sqrt{1-x^2}}}_{=g} dx$$

$$= \frac{x}{\sqrt{1-x^2}} \text{Arcsin } x + \frac{1}{2} \int \frac{-2x}{1-x^2} dx = \frac{x}{\sqrt{1-x^2}} \text{Arcsin } x + \frac{1}{2} \log(1-x^2) + C$$

$$\begin{aligned} \text{Eg [1, § 1.3] } \alpha) \int \frac{3x^2-1}{2x\sqrt{x}} dx &= \frac{3}{2} \int \sqrt{x} dx - \frac{1}{2} \int \frac{dx}{x^{3/2}} = \overline{12-A/9} \\ &= \frac{3}{2} \frac{x^{3/2}}{3/2} - \frac{1}{2} \frac{x^{-1/2}}{-1/2} + C = x^{3/2} + x^{-1/2} + C = \frac{x^2+1}{\sqrt{x}} + C \end{aligned}$$

$$\begin{aligned} \Rightarrow \int \frac{3x^2-1}{2x\sqrt{x}} \operatorname{Arctg} x dx &= \frac{x^2+1}{\sqrt{x}} \operatorname{Arctg} x - \int \frac{x^2+1}{\sqrt{x}} \frac{1}{1+x^2} dx \\ &= \frac{x^2+1}{\sqrt{x}} \operatorname{Arctg} x - 2\sqrt{x} + C \end{aligned}$$

$$\begin{aligned} \beta) \int e^{\sin x} \frac{x \cos^3 x - \sin x}{\cos^2 x} dx &= \int_{y=\sin x} e^y \left(\operatorname{Arcsiny} - \frac{y}{(1-y^2)^{3/2}} \right) dy \\ &\quad dy = \cos x dx \end{aligned}$$

$$= e^y \operatorname{Arcsiny} - \int e^y \frac{1}{(1-y^2)^{1/2}} dy - \int e^y \frac{y}{(1-y^2)^{3/2}} dy$$

$$\text{όπου, από } \int \frac{y}{(1-y^2)^{3/2}} dy = -\frac{1}{2} \int \frac{-2y}{(1-y^2)^{3/2}} dy \stackrel{z=1-y^2}{=} -\frac{1}{2} \int \frac{dz}{z^{3/2}} =$$

$$= -\frac{1}{2} \frac{z^{-\frac{1}{2}}}{-\frac{1}{2}} + c = \frac{1}{2^{\frac{1}{2}}} + c = \frac{1}{(1-y^2)^{\frac{1}{2}}} + c,$$

$$\int e^y \frac{y}{(1-y^2)^{\frac{3}{2}}} dy = e^y \frac{1}{(1-y^2)^{\frac{1}{2}}} - \int e^y \frac{1}{(1-y^2)^{\frac{1}{2}}} dy$$

$$\Rightarrow \int e^y \left(\operatorname{Arcsin} y - \frac{y}{(1-y^2)^{\frac{3}{2}}} \right) dy = e^y \left(\operatorname{Arcsin} y - \frac{1}{(1-y^2)^{\frac{1}{2}}} \right) + c$$

$$\Rightarrow \int e^{\sin x} \frac{x \cos^3 x - \sin x}{\cos^2 x} dx = e^{\sin x} \left(x - \frac{1}{\cos x} \right) + c, x \in \left(-\frac{\pi}{2}, \frac{\pi}{2}\right)$$

$$y) \int e^x \frac{1 + \sin x}{1 + \cos x} dx \stackrel{(*)}{=} \int e^x \left(\left(\operatorname{tg} \frac{x}{2} \right)' + \operatorname{tg} \frac{x}{2} \right) dx =$$

$$= e^x \operatorname{tg} \frac{x}{2} - \int e^x \operatorname{tg} \frac{x}{2} dx + \int e^x \operatorname{tg} \frac{x}{2} dx = e^x \operatorname{tg} \frac{x}{2} + c$$

$$(*) \frac{1 + \sin x}{1 + \cos x} = \frac{1 + 2 \sin \frac{x}{2} \cos \frac{x}{2}}{2 \cos^2 \frac{x}{2}} = \frac{1}{2} \frac{1}{\cos^2 \frac{x}{2}} + \operatorname{tg} \frac{x}{2} = \left(\operatorname{tg} \frac{x}{2} \right)' + \operatorname{tg} \frac{x}{2}$$

$$A[1.10] \int \operatorname{Arctg} x \, dx = x \operatorname{Arctg} x - \int \frac{x}{1+x^2} dx = x \operatorname{Arctg} x - \frac{1}{2} \ln |1+x^2| + c$$

$$\delta) \int \frac{x}{\cos^2 x} dx = x \operatorname{tg} x - \int \operatorname{tg} x \, dx = x \operatorname{tg} x - \int \frac{\sin x}{\cos x} dx =$$

$$= x \operatorname{tg} x + \ln |\cos x| + c$$

$$A[1.14 \text{ oz}] \int \frac{x \operatorname{Arctg} x}{\sqrt{1+x^2}} dx :$$

$$\int \frac{x}{\sqrt{1+x^2}} dx = \frac{1}{2} \int \frac{2x}{\sqrt{1+x^2}} dx = \frac{1}{2} \int \frac{dy}{\sqrt{y}} = \sqrt{y} + c = \sqrt{1+x^2} + c$$

$$\Rightarrow \int \frac{x \operatorname{Arctg} x}{\sqrt{1+x^2}} dx = \sqrt{1+x^2} \operatorname{Arctg} x - \int \sqrt{1+x^2} \frac{1}{1+x^2} dx$$

$$= \sqrt{1+x^2} \operatorname{Arctg} x - \int \frac{1}{\sqrt{1+x^2}} dx = \sqrt{1+x^2} \operatorname{Arctg} x - \underbrace{\operatorname{Arctg} \sinh x + c}_{= \log(x + \sqrt{x^2 + 1})}$$

[Nz.I, 275]

$$A [1.158] \int \frac{x^2}{(x \sin x + \cos x)^2} dx ;$$

$$\varphi(x) = x \sin x + \cos x \Rightarrow \varphi'(x) = \sin x + x \cos x - \sin x = x \cos x$$

$$\Rightarrow \left(\frac{1}{\varphi(x)} \right)' = - \frac{\varphi'(x)}{\varphi^2(x)} = - \frac{x \cos x}{(x \sin x + \cos x)^2}$$

$$\Rightarrow \int \frac{x^2}{(x \sin x + \cos x)^2} dx = \int \frac{-x}{\cos x} \left(\frac{1}{\varphi(x)} \right)' dx$$

$$= \frac{-x}{\cos x} \frac{1}{\varphi(x)} + \int \frac{\cancel{\cos x} + x \sin x}{\cos^2 x} \frac{1}{\cancel{x \sin x + \cos x}} dx$$

$$= - \frac{x}{\cos x} \frac{1}{x \sin x + \cos x} + \int \frac{1}{\cos x} dx + C$$

$$= \frac{1}{\cos x} \left(\sin x - \frac{x}{\cos x + x \sin x} \right) + C = \frac{1}{\cos x} \frac{\sin x \cos x + x \sin^2 x - x}{\cos x + x \sin x} + C$$

$$= \frac{\sin x - x \cos x}{\cos x + x \sin x} + C$$

$$A [1.16] \alpha) \int x \log \left(\frac{1-x}{1+x} \right) dx = \frac{1}{2} x^2 \log \left(\frac{1-x}{1+x} \right) - \frac{1}{2} \int x^2 \frac{1+x}{1-x} \left(\frac{1-x}{1+x} \right)' dx \quad \text{[2-A/13]}$$

$$\text{όπου } \left(\frac{1-x}{1+x} \right)' = \frac{-(1+x) - (1-x)}{(1+x)^2} = \frac{-2}{(1+x)^2} \Rightarrow$$

$$\Rightarrow -\frac{1}{2} \int x^2 \frac{1+x}{1-x} \left(\frac{1-x}{1+x} \right)' dx = \int \frac{x^2}{1-x^2} dx = -\int \frac{1-x^2}{1-x^2} dx + \int \frac{dx}{1-x^2}$$

$$= -x + \operatorname{Arctgh} x + C \quad \text{για } x \in (-1, 1)$$

$$\Rightarrow \int x \log \left(\frac{1-x}{1+x} \right) dx = \frac{1}{2} x^2 \log \left(\frac{1-x}{1+x} \right) - x + \underbrace{\operatorname{Arctgh} x + C}_{= \frac{1}{2} \log \left(\frac{1+x}{1-x} \right)}$$

$$= \frac{1}{2} (x^2 - 1) \log \left(\frac{1-x}{1+x} \right) - x + C, \quad x \in (-1, 1)$$

$$\beta) \int \sin^3 \sqrt{x} dx = \int \sin \left(\underbrace{x^{\frac{1}{2}}}_{=y} \right) dx$$

$$\Rightarrow dy = \frac{1}{2} x^{-\frac{1}{2}} dx$$

$$= \frac{1}{2} \frac{1}{y^2} dx$$

$$\Leftrightarrow dx = 2y^2 dy$$

$$= 2 \int y^2 \sin y dy$$

2-A/14

$$= 3(-y^2 \cos y + 2 \int y \cos y dy)$$

$$= -3y^2 \cos y + 6(y \sin y - \int \sin y dy)$$

$$= -3y^2 \cos y + 6y \sin y + 6 \cos y + c$$

$$= (6 - 3x^{\frac{2}{3}}) \cos(x^{\frac{1}{3}}) + 6x^{\frac{1}{3}} \sin(x^{\frac{1}{3}}) + c$$

$$8) \int \arccos \sqrt{\frac{x}{x+1}} dx = x \arccos \sqrt{\frac{x}{x+1}} + \int x \frac{1}{\sqrt{1-\frac{x}{x+1}}} \cdot \frac{1}{2} \sqrt{\frac{x+1}{x}} \cdot \frac{1}{(x+1)^2} dx$$

$$= x \arccos \sqrt{\frac{x}{x+1}} + \frac{1}{2} \int \frac{\sqrt{x}}{x+1} dx + c$$

$$\text{oder } \int \frac{\sqrt{x}}{x+1} dx \stackrel{y=\sqrt{x}}{=} 2 \int \frac{y^2}{y^2+1} dy = 2y - 2 \int \frac{dy}{1+y^2} = 2\sqrt{x} - 2 \operatorname{Arctg} \sqrt{x} + c$$
$$dy = \frac{1}{2y} dx$$

$$\Rightarrow \int \arccos \sqrt{\frac{x}{x+1}} dx = x \arccos \sqrt{\frac{x}{x+1}} + \sqrt{x} - \operatorname{Arctg} \sqrt{x} + c$$

$$\delta) \int x^2 \sqrt{4-x^2} dx = \int 4 \sin^2 \vartheta \cdot 2 \cos \vartheta \cdot 2 \cos \vartheta d\vartheta \quad \text{2-A/15}$$

$$x = 2 \sin \vartheta, \vartheta \in \left(-\frac{\pi}{2}, \frac{\pi}{2}\right)$$

$$dx = 2 \cos \vartheta d\vartheta$$

$$= 4 \int \sin^2(2\vartheta) d\vartheta = 2 \int \sin^2 y dy = 2 \left(-\sin y \cos y + \int \cos^2 y dy \right)$$

$$y = 2\vartheta$$

$$= -2 \sin y \cos y + 2y - 2 \int \sin^2 y dy = -\sin y \cos y + y + C$$

$$= -\sin(2\vartheta) \cos(2\vartheta) + 2\vartheta + C = -2 \sin \vartheta \cos \vartheta (\cos^2 \vartheta - \sin^2 \vartheta) + 2\vartheta + C$$

$$= -2 \sin \vartheta (1 - \sin^2 \vartheta)^{\frac{1}{2}} (1 - 2 \sin^2 \vartheta) + 2\vartheta + C$$

$$= -x \left(1 - \frac{x^2}{4}\right)^{\frac{1}{2}} \left(1 - 2 \frac{x^2}{4}\right) + 2 \operatorname{Arc} \sin \frac{x}{2} + C$$

$$= -\frac{1}{4} x (4-x^2)^{\frac{1}{2}} (2-x^2) + 2 \operatorname{Arc} \sin \frac{x}{2} + C$$